



Research Article

Feng Qi, Muhammet Cihat Dağlı, and Dongkyu Lim*

Several explicit formulas for (degenerate) Narumi and Cauchy polynomials and numbers

<https://doi.org/10.1515/math-2021-0079>

received May 17, 2021; accepted July 21, 2021

Abstract: In this paper, with the aid of the Faà di Bruno formula and by virtue of properties of the Bell polynomials of the second kind, the authors define a kind of notion of degenerate Narumi numbers and polynomials, establish explicit formulas for degenerate Narumi numbers and polynomials, and derive explicit formulas for the Narumi numbers and polynomials and for (degenerate) Cauchy numbers.

Keywords: Narumi number, Narumi polynomial, Cauchy number, degenerate Cauchy number, explicit formula, Bell polynomial of the second kind, Faà di Bruno formula, generating function

MSC 2020: 11B83, 11C08, 33B10

Dedicated to Professor Ce-Wen Cao at School of Mathematics and Statistics, Zhengzhou University, China.

1 Preliminaries and motivations

In this section, we first recall several known notions and mention our motivations.

1.1 Stirling numbers

The Stirling numbers of the first kind $s(n, k)$ for $n \geq k \geq 0$ can be generated [1,2] by

$$\frac{[\ln(1+x)]^k}{k!} = \sum_{n=k}^{\infty} s(n, k) \frac{x^n}{n!}, \quad |x| < 1$$

and can be computed by

$$|s(n+1, k+1)| = n! \sum_{\ell_1=k}^n \frac{1}{\ell_1} \sum_{\ell_2=k-1}^{\ell_1-1} \frac{1}{\ell_2} \cdots \sum_{\ell_{k-1}=2}^{\ell_{k-2}-1} \frac{1}{\ell_{k-1}} \sum_{\ell_k=1}^{\ell_{k-1}-1} \frac{1}{\ell_k}, \quad n \geq k \geq 1,$$

* **Corresponding author: Dongkyu Lim**, Department of Mathematics Education, Andong National University, Andong 36729, Republic of Korea, e-mail: dklim@andong.ac.kr, dgrim84@gmail.com

Feng Qi: Institute of Mathematics, Henan Polytechnic University, Jiaozuo 454010, Henan, China; School of Mathematical Sciences, Tiangong University, Tianjin 300387, China, e-mail: qifeng618@gmail.edu, qifeng618@hotmail.com, qifeng618@yeah.net

Muhammet Cihat Dağlı: Department of Mathematics, Akdeniz University, 07058-Antalya, Turkey, e-mail: mcihatdagli@akdeniz.edu.tr

ORCID: Feng Qi 0000-0001-6239-2968; Muhammet Cihat Dağlı 0000-0003-2859-902X; Dongkyu Lim 0000-0002-0928-8480

which was derived in [3, Corollary 2.3] and can be reformulated as

$$\frac{|s(n + 1, k + 1)|}{n!} = \sum_{m=k}^n \frac{|s(m, k)|}{m!}, \quad n \geq k \geq 1.$$

The Stirling numbers of the second kind $S(n, k)$ for $n \geq k \geq 0$ can be generated [1,2] by

$$\frac{(e^x - 1)^k}{k!} = \sum_{n=k}^{\infty} S(n, k) \frac{x^n}{n!} \tag{1}$$

and can be computed [4] by

$$S(n, k) = \frac{1}{k!} \sum_{\ell=0}^k (-1)^{k-\ell} \binom{k}{\ell} \ell^n.$$

In [5, p. 303, equation (1.2)], see also [6–8], the r -associate Stirling numbers of the second kind, denoted by $S(n, k; r)$, were defined by

$$\left(e^x - \sum_{i=0}^r \frac{x^i}{i!} \right)^k = \left(\sum_{i=r+1}^{\infty} \frac{x^i}{i!} \right)^k = k! \sum_{n=(r+1)k}^{\infty} S(n, k; r) \frac{x^n}{n!}. \tag{2}$$

It is clear that $S(n, k; 0) = S(n, k)$.

Proposition 1.1. ([5, p. 306, (3.11)] and [6, Theorem 3.1]) *For $k \geq 1$, the 1-associate Stirling numbers of the second kind $S(n, k; 1)$ satisfy $S(0, 0; 1) = 1$, $S(n, 0; 1) = 0$ for $n \geq 1$, and*

$$S(n, k; 1) = \begin{cases} \frac{1}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} \langle n \rangle_m (k - j)^{n-m}, & n \geq 2k \geq 2; \\ 0, & 0 \leq n < 2k, \end{cases}$$

where the falling factorial

$$\langle x \rangle_n = \prod_{k=0}^{n-1} (x - k) = \begin{cases} x(x - 1) \cdots (x - n + 1), & n \geq 1; \\ 1, & n = 0. \end{cases}$$

1.2 Degenerate Narumi and Cauchy numbers and polynomials

The Narumi polynomials $N_n^{(\alpha)}(x)$ were defined by means of the generating function

$$\left[\frac{t}{\ln(1+t)} \right]^\alpha (1+t)^x = \sum_{n=0}^{\infty} N_n^{(\alpha)}(x) \frac{t^n}{n!} \tag{3}$$

in [9, p. 127]. In particular, the quantities $N_n^{(\alpha)}(0) = N_n^{(\alpha)}$ are called the Narumi numbers. In [10], several Sheffer sequences and many relations of several polynomials arising from umbral calculus were dealt with. In [11], the Narumi polynomials of the Barnes type were defined and many interesting identities in the light of umbral calculus were established.

When letting $\alpha = 1$ and $x = 0$ in (3), the quantities $N_n^{(\alpha)}(x)$ become the Cauchy numbers of the first kind C_n , which have been investigated in [3,12–14] and closely related references therein.

In [15], Kim and two coauthors defined degenerate Cauchy numbers $C_n(\lambda)$ by

$$\frac{\lambda [e^{(1+t)^\lambda - 1} / \lambda - 1]}{(1+t)^\lambda - 1} = \sum_{n=0}^{\infty} C_n(\lambda) \frac{t^n}{n!}$$

and showed that the family of nonlinear differential equations

$$(1 + t)^n [(1 + t)^\lambda - 1]^n F_\lambda^{(n)}(t) = F_\lambda(t) \sum_{i=1}^{2n} a_i(n, \lambda)(1 + t)^{i\lambda} + \sum_{i=1}^{2n-1} b_i(n, \lambda)(1 + t)^{i\lambda}$$

for $n \in \mathbb{N}$ has the same solutions

$$F_\lambda(t) = \frac{e^{[(1+t)^\lambda - 1]/\lambda} - 1}{(1 + t)^\lambda - 1}, \tag{4}$$

where $a_i(n, \lambda)$ for $1 \leq i \leq 2n$ and $b_i(n, \lambda)$ for $1 \leq i \leq 2n - 1$ are uniquely determined by

$$\begin{aligned} a_1(n, \lambda) &= -\frac{1}{\lambda} \langle n - 1 - \lambda \rangle_{n+1}, \\ a_2(n, \lambda) &= \langle n - 1 - 2\lambda \rangle_{n-1} - \frac{1}{\lambda} \sum_{i=0}^{n-2} [\lambda - (\lambda + 1)(n - i)] \langle n - i - 2 - \lambda \rangle_{n-i} \langle n - 1 - 2\lambda \rangle_i, \\ a_i(n, \lambda) &= [(i - 1)\lambda - (\lambda + 1)n] a_i(n - 1, \lambda) + a_{i-2}(n - 1, \lambda) + (n - 1 - i\lambda) a_i(n - 1, \lambda) \end{aligned} \tag{5}$$

for $3 \leq i \leq 2n - 2$,

$$\begin{aligned} a_{2n-1}(n, \lambda) &= \frac{1}{2} n [(\lambda - 1)(n - 1) - 2(\lambda + 1)], \quad a_{2n}(n, \lambda) = 1, \quad b_1(n, \lambda) = \langle n - 1 - \lambda \rangle_{n-1}, \\ b_i(n, \lambda) &= [(i - 1)\lambda - (\lambda + 1)(n - 1)] b_{i-1}(n - 1, \lambda) + a_{i-1}(n - 1, \lambda) + (n - 1 - i\lambda) b_i(n - 1, \lambda) \end{aligned} \tag{6}$$

for $2 \leq i \leq 2n - 3$, and

$$b_{2n-2}(n, \lambda) = (\lambda - 1) \binom{n - 1}{2} - 2(n - 1) - \lambda, \quad b_{2n-1}(n, \lambda) = 1. \tag{7}$$

Since

$$\lim_{\lambda \rightarrow 0} \frac{(1 + t)^\lambda - 1}{\lambda} = \ln(1 + t),$$

we have

$$\lim_{\lambda \rightarrow 0} C_n(\lambda) = C_n, \quad n \geq 0.$$

This should be what the word “degenerate” means.

In previous study [16], for simplifying and signifying those expressions in (5), (6), and (7), by virtue of the Faà di Bruno formula (12), the identity (13), and the closed-form expression (15), Qi and his two coauthors established the following two conclusions.

1. For $n \geq 0$, degenerate Cauchy numbers $C_n(\lambda)$ and the Cauchy numbers C_n can be explicitly computed by

$$C_n(\lambda) = \sum_{k=0}^n \frac{(-1)^k}{(k + 1)!} \frac{1}{\lambda^k} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} \langle \ell \lambda \rangle_n \tag{8}$$

and

$$C_n = \sum_{k=0}^n \frac{s(n, k)}{k + 1}, \tag{9}$$

respectively. See [16, Theorem 1].

2. For $n \in \mathbb{N}$, the function $F_\lambda(t)$ in (4) and its derivatives satisfy

$$F_\lambda^{(n)}(t) = \frac{F_\lambda(t)}{(1 + t)^n [1 - (1 + t)^\lambda]^n} \sum_{i=1}^{2n} \alpha_i(n, \lambda)(1 + t)^{i\lambda} + \sum_{i=1}^{2n-1} \beta_i(n, \lambda)(1 + t)^{i\lambda}$$

with

$$\alpha_i(n, \lambda) = \sum_{\substack{k+m=i \\ 1 \leq k \leq n \\ 0 \leq m \leq n}} (-1)^m A_k(n, \lambda) \sum_{\ell=0}^{\min\{n-m, k\}} \frac{\lambda^\ell}{(k-\ell)!} \binom{n-\ell}{m}$$

for $1 \leq i \leq 2n$ and

$$\beta_i(n, \lambda) = \sum_{\substack{k+m=i \\ 1 \leq k \leq n \\ 0 \leq m \leq n-1}} (-1)^{m+1} A_k(n, \lambda) \sum_{\ell=0}^{\min\{k-1, n-m-1\}} \frac{\lambda^\ell}{(k-\ell)!} \binom{n-\ell-1}{m}$$

for $1 \leq i \leq 2n - 1$, where

$$A_k(n, \lambda) = \frac{(-1)^k}{\lambda^k} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} \prod_{q=0}^{n-1} (\ell\lambda - q).$$

See [16, Theorem 2].

From the explicit formula (8), we obtain the first seven values of degenerate Cauchy numbers $C_n(\lambda)$ for $0 \leq n \leq 6$ as follows:

$$\begin{aligned} C_0(\lambda) &= 1, & C_1(\lambda) &= \frac{1}{2}, & C_2(\lambda) &= \frac{1}{6}(3\lambda - 1), & C_3(\lambda) &= \frac{1}{4}(2\lambda^2 - 2\lambda + 1), \\ C_4(\lambda) &= \frac{\lambda^3}{2} - \frac{2\lambda^2}{3} + \lambda - \frac{19}{30}, & C_5(\lambda) &= \frac{1}{12}(6\lambda^4 + 5\lambda^2 - 36\lambda + 27), \\ C_6(\lambda) &= \frac{\lambda^5}{2} + \frac{17\lambda^4}{6} - 10\lambda^3 + \frac{61\lambda^2}{12} + 12\lambda - \frac{863}{84}. \end{aligned}$$

In recent years, the authors also investigated other sequences of special numbers and polynomials in [17–28] and closely related references therein.

1.3 Motivations

In this paper, we introduce degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ by

$$\left(\frac{\lambda[e^{(1+t)^\lambda} - 1]/\lambda - 1}{(1+t)^\lambda - 1} \right)^\alpha e^{x[(1+t)^\lambda - 1]/\lambda} = \sum_{n=0}^\infty N_n^{(\alpha)}(x, \lambda) \frac{t^n}{n!}. \tag{10}$$

It is clear that

$$\lim_{\lambda \rightarrow 0} N_n^{(\alpha)}(x, \lambda) = N_n^{(\alpha)}(x), \quad N_n^{(1)}(0, \lambda) = C_n(\lambda).$$

When $x = 0$, we call $N_n^{(\alpha)}(0, \lambda)$ degenerate Narumi numbers and denote them by the notation $\mathcal{N}_n^{(\alpha)}(\lambda)$, that is, taking $x = 0$ in (10),

$$\left(\frac{\lambda[e^{(1+t)^\lambda} - 1]/\lambda - 1}{(1+t)^\lambda - 1} \right)^\alpha = \sum_{n=0}^\infty \mathcal{N}_n^{(\alpha)}(\lambda) \frac{t^n}{n!}. \tag{11}$$

It is easy to see that $N_0^{(\alpha)}(x, \lambda) = 1$ and $\mathcal{N}_0^{(\alpha)}(\lambda) = 1$.

In this paper, we mainly aim at establishing explicit formulas for degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$ and degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$. Consequently, we derive explicit formulas for the Cauchy numbers C_n and degenerate Cauchy numbers $C_n(\lambda)$.

2 Properties of second kind Bell polynomials

The Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ for $n \geq k \geq 0$ were defined in [2, p. 134] by

$$B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) = \sum_{\substack{1 \leq i \leq n-k+1 \\ \ell_i \in \{0\} \cup \mathbb{N} \\ \sum_{i=1}^{n-k+1} i \ell_i = n \\ \sum_{i=1}^{n-k+1} \ell_i = k}} \frac{n!}{\prod_{i=1}^{n-k+1} \ell_i!} \prod_{i=1}^{n-k+1} \left(\frac{x_i}{i!}\right)^{\ell_i}.$$

For $n \in \mathbb{N}$, the Faà di Bruno formula is described in [2, p. 139] in terms of the Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ by

$$\frac{d^n}{dt^n} f \circ h(t) = \sum_{k=1}^n f^{(k)}(h(t)) B_{n,k}(h'(t), h''(t), \dots, h^{(n-k+1)}(t)). \tag{12}$$

In [2, p. 135], there is an identity

$$B_{n,k}(abx_1, ab^2x_2, \dots, ab^{n-k+1}x_{n-k+1}) = a^k b^n B_{n,k}(x_1, x_2, \dots, x_{n-k+1}), \tag{13}$$

where $n \geq k \geq 0$ and a, b, λ, α are any complex numbers. At the end of [2, p. 133], there is the formula

$$\frac{1}{k!} \left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!} \right)^k = \sum_{n=k}^{\infty} B_{n,k}(x_1, x_2, \dots, x_{n-k+1}) \frac{t^n}{n!}, \quad k \geq 0. \tag{14}$$

In [29, Remark 1], there existed the formula

$$B_{n,k} \left(1, 1 - \lambda, (1 - \lambda)(1 - 2\lambda), \dots, \prod_{\ell=0}^{n-k} (1 - \ell\lambda) \right) = \frac{(-1)^k}{k!} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} \prod_{q=0}^{n-1} (\ell - q\lambda). \tag{15}$$

The explicit formula (15) has been applied and reviewed in [16, Lemma 3], [30, Lemma 2.6], [31, Section 2], [32, First proof of Theorem 2], [33, Lemma 2.2], [34, Remark 6.1], [35, Lemma 4], and [36, Section 1.3]. The explicit formula (15) is equivalent to

$$B_{n,k}(\langle \lambda \rangle_1, \langle \lambda \rangle_2, \dots, \langle \lambda \rangle_{n-k+1}) = \frac{(-1)^k}{k!} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} \langle \lambda \ell \rangle_n, \tag{16}$$

which was presented in [37, Theorems 2.1 and 4.1]. In [38, Remark 7.5], the explicit formulas (15) and (16) were rearranged as

$$B_{n,k} \left(1, 1 - \lambda, (1 - \lambda)(1 - 2\lambda), \dots, \prod_{\ell=0}^{n-k} (1 - \ell\lambda) \right) = (-1)^k \frac{\lambda^{n-1} (n-1)!}{k!} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\ell\lambda - 1}{n-1}$$

for $\lambda \neq 0$ and

$$B_{n,k}(\langle \lambda \rangle_1, \langle \lambda \rangle_2, \dots, \langle \lambda \rangle_{n-k+1}) = (-1)^k \lambda \frac{(n-1)!}{k!} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell - 1}{n-1}, \tag{17}$$

where $n \in \mathbb{N}$ and generalized binomial coefficient $\binom{z}{w}$ is defined by

$$\binom{z}{w} = \begin{cases} \frac{\Gamma(z+1)}{\Gamma(w+1)\Gamma(z-w+1)}, & z, w, z-w \in \mathbb{C} \setminus \{-1, -2, \dots\}; \\ 0, & z \in \mathbb{C} \setminus \{-1, -2, \dots\}, \quad w, z-w \in \{-1, -2, \dots\}. \end{cases}$$

For establishing explicit formulas for degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ and for the Narumi polynomials $N_n^{(\alpha)}(x)$, we derive two explicit formulas for special values of the Bell polynomials of the second kind

$$B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right). \tag{18}$$

Lemma 2.1. Let $a, b \in \mathbb{C}$.

1. When $n \geq k \geq 0$ and $n \in \mathbb{N}$, the Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ satisfy

$$\begin{aligned} & B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right) \\ &= \frac{(-1)^k}{k!} \frac{n!}{(n+k)!} \left\{ \sum_{\ell=1}^{k-1} (-1)^\ell \binom{k}{\ell} \sum_{q=0}^{n-k} \binom{n+k}{2\ell+q} b^{2\ell+q} a^{n+k-(2\ell+q)} \right. \\ &\quad \times \left[\sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell-j)^{2\ell+q-m} (2\ell+q)_m \right] \\ &\quad \times \left[\sum_{j=0}^{k-\ell} (-1)^j \binom{k-\ell}{j} \sum_{m=0}^j \binom{j}{m} (k-\ell-j)^{n+k-(2\ell+q)-m} (n+k-(2\ell+q))_m \right] \\ &\quad \left. + [(-1)^k b^{n+k} + a^{n+k}] \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} (k-j)^{n+k-m} (n+k)_m \right\}. \end{aligned} \tag{19}$$

2. When $n \geq k \geq 0$, the Bell polynomials of the second kind $B_{n,k}(x_1, x_2, \dots, x_{n-k+1})$ satisfy

$$\begin{aligned} & B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right) \\ &= \frac{1}{k!} \sum_{r+s=k} \sum_{\ell+m=n} (-1)^s \binom{k}{r} \binom{n}{\ell} \frac{b^{r+\ell}}{\binom{r+\ell}{r}} \frac{a^{s+m}}{\binom{s+m}{s}} \\ &\quad \times \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \left[\sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right]. \end{aligned} \tag{20}$$

Proof. For $b > a > 0$, let

$$G_{a,b}(u) = \begin{cases} \frac{e^{bu} - e^{au}}{u}, & u \neq 0; \\ b - a, & u = 0. \end{cases} \tag{21}$$

It is easy to see that

$$G_{a,b}^{(k)}(u) = \int_a^b t^k e^{tu} dt, \quad k \in \{0\} \cup \mathbb{N} \tag{22}$$

and

$$G_{a,b}^{(k)}(0) = \frac{b^{k+1} - a^{k+1}}{k+1}, \quad k \in \{0\} \cup \mathbb{N}. \tag{23}$$

Employing the formula

$$B_{n,k}\left(\frac{x_2}{2}, \frac{x_3}{3}, \dots, \frac{x_{n-k+2}}{n - k + 2}\right) = \frac{n!}{(n+k)!} B_{n+k,k}(0, x_2, x_3, \dots, x_{n+1})$$

in [2, p. 136], we acquire

$$\begin{aligned}
 B_{n,k}(G'_{a,b}(0), G''_{a,b}(0), \dots, G^{(n-k+1)}_{a,b}(0)) &= B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right) \\
 &= \frac{n!}{(n + k)!} B_{n+k,k}(0, b^2 - a^2, b^3 - a^3, \dots, b^{n+1} - a^{n+1}).
 \end{aligned}$$

Making use of the formula (14) yields

$$\begin{aligned}
 \sum_{n=0}^{\infty} B_{n+k,k}(x_1, x_2, \dots, x_{n+1}) \frac{k!n!}{(n + k)!} \frac{t^{n+k}}{n!} &= \left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!}\right)^k, \\
 \sum_{n=0}^{\infty} \frac{B_{n+k,k}(x_1, x_2, \dots, x_{n+1})}{\binom{n+k}{k}} \frac{t^{n+k}}{n!} &= \left(\sum_{m=1}^{\infty} x_m \frac{t^m}{m!}\right)^k, \\
 B_{n+k,k}(x_1, x_2, \dots, x_{n+1}) &= \binom{n+k}{k} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left[\sum_{m=0}^{\infty} x_{m+1} \frac{t^m}{(m+1)!} \right]^k.
 \end{aligned}$$

Accordingly, considering (2), we obtain

$$\begin{aligned}
 &B_{n+k,k}(0, b^2 - a^2, b^3 - a^3, \dots, b^{n+1} - a^{n+1}) \\
 &= \binom{n+k}{k} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left[\sum_{m=1}^{\infty} (b^{m+1} - a^{m+1}) \frac{t^m}{(m+1)!} \right]^k \\
 &= \binom{n+k}{k} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left[\frac{(e^{bt} - bt - 1) - (e^{at} - at - 1)}{t} \right]^k \\
 &= \binom{n+k}{k} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left[\frac{(-1)^k}{t^k} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} (e^{bt} - bt - 1)^\ell (e^{at} - at - 1)^{k-\ell} \right] \\
 &= \binom{n+k}{k} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left(\frac{(-1)^k}{t^k} \sum_{\ell=0}^k (-1)^\ell \binom{k}{\ell} \left[\ell! \sum_{q=2\ell}^{\infty} S(q, \ell; 1) b^q \frac{t^q}{q!} \right] \left[(k-\ell)! \sum_{p=2(k-\ell)}^{\infty} S(p, k-\ell; 1) a^p \frac{t^p}{p!} \right] \right) \\
 &= (-1)^k \frac{(n+k)!}{n!} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \left(t^k \sum_{\ell=0}^k (-1)^\ell \left[\sum_{q=0}^{\infty} \frac{S(2\ell + q, \ell; 1) b^{2\ell+q}}{(2\ell + q)!} t^q \right] \left[\sum_{p=0}^{\infty} \frac{S(2(k-\ell) + p, k-\ell; 1) a^{2(k-\ell)+p}}{[2(k-\ell) + p]!} t^p \right] \right) \\
 &= (-1)^k \frac{(n+k)!}{n!} \lim_{t \rightarrow 0} \frac{d^n}{dt^n} \sum_{\ell=0}^k (-1)^\ell \sum_{m=0}^{\infty} \left[\sum_{q=0}^m \frac{S(2\ell + q, \ell; 1) b^{2\ell+q}}{(2\ell + q)!} \frac{S(2(k-\ell) + m - q, k-\ell; 1) a^{2(k-\ell)+m-q}}{[2(k-\ell) + m - q]!} \right] t^{m+k} \\
 &= (-1)^k (n+k)! \sum_{\ell=0}^k (-1)^\ell \left[\sum_{q=0}^{n-k} \frac{S(2\ell + q, \ell; 1) b^{2\ell+q}}{(2\ell + q)!} \frac{S(n+k-2\ell-q, k-\ell; 1) a^{n+k-2\ell-q}}{(n+k-2\ell-q)!} \right].
 \end{aligned}$$

Consequently, we acquire

$$\begin{aligned}
 &B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right) \\
 &= (-1)^k n! \sum_{\ell=0}^k (-1)^\ell \sum_{q=0}^{n-k} \frac{S(2\ell + q, \ell; 1) b^{2\ell+q}}{(2\ell + q)!} \frac{S(n+k-2\ell-q, k-\ell; 1) a^{n+k-2\ell-q}}{(n+k-2\ell-q)!}.
 \end{aligned} \tag{24}$$

Further applying Proposition 1.1 to (24) yields

$$\begin{aligned}
 &B_{n,k}\left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n - k + 2}\right) \\
 &= (-1)^k n! \sum_{\ell=1}^{k-1} (-1)^\ell \sum_{q=0}^{n-k} \frac{S(2\ell + q, \ell; 1) b^{2\ell+q}}{(2\ell + q)!} \frac{S(n+k-2\ell-q, k-\ell; 1) a^{n+k-2\ell-q}}{(n+k-2\ell-q)!}
 \end{aligned}$$

$$\begin{aligned}
 &+ (-1)^k n! \sum_{q=1}^{n-k} \frac{S(q, 0; 1) b^q}{q!} \frac{S(n+k-q, k; 1) a^{n+k-q}}{(n+k-q)!} + (-1)^k n! \frac{S(0, 0; 1) b^0}{0!} \frac{S(n+k, k; 1) a^{n+k}}{(n+k)!} \\
 &+ (-1)^k n! (-1)^k \sum_{q=0}^{n-k-1} \frac{S(2k+q, k; 1) b^{2k+q}}{(2k+q)!} \frac{S(n-k-q, 0; 1) a^{n-k-q}}{(n-k-q)!} \\
 &+ (-1)^k n! (-1)^k \frac{S(n+k, k; 1) b^{n+k}}{(n+k)!} \frac{S(0, 0; 1) a^0}{0!} \\
 = &(-1)^k n! \sum_{\ell=1}^{k-1} (-1)^\ell \sum_{q=0}^{n-k} \frac{S(2\ell+q, \ell; 1) b^{2\ell+q}}{(2\ell+q)!} \frac{S(n+k-2\ell-q, k-\ell; 1) a^{n+k-2\ell-q}}{(n+k-2\ell-q)!} \\
 &+ (-1)^k n! \frac{S(n+k, k; 1) a^{n+k}}{(n+k)!} + n! \frac{S(n+k, k; 1) b^{n+k}}{(n+k)!} \\
 = &(-1)^k n! \sum_{\ell=1}^{k-1} (-1)^\ell \frac{1}{\ell!} \frac{1}{(k-\ell)!} \sum_{q=0}^{n-k} \frac{b^{2\ell+q}}{(2\ell+q)!} \frac{a^{n+k-2\ell-q}}{(n+k-2\ell-q)!} \left[\sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} \langle 2\ell+q \rangle_m (\ell-j)^{2\ell+q-m} \right] \\
 &\times \left[\sum_{j=0}^{k-\ell} (-1)^j \binom{k-\ell}{j} \sum_{m=0}^j \binom{j}{m} \langle n+k-2\ell-q \rangle_m (k-\ell-j)^{n+k-2\ell-q-m} \right] \\
 &+ [b^{n+k} + (-1)^k a^{n+k}] \frac{n!}{(n+k)!} \frac{1}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} \langle n+k \rangle_m (k-j)^{n+k-m},
 \end{aligned}$$

which can be rearranged as the explicit formula (19).

In [36, Section 1.8], it was given for $n \geq k \geq 0$ that

$$B_{n,k} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{n-k+2} \right) = \frac{n!}{(n+k)!} \sum_{\ell=0}^k (-1)^{k-\ell} \binom{n+k}{k-\ell} S(n+\ell, \ell). \tag{25}$$

In [2, p. 136, equation [3n]], it was given that the Bell polynomials of the second kind $B_{n,k}$ satisfy

$$B_{n,k}(x_1 + y_1, x_2 + y_2, \dots, x_{n-k+1} + y_{n-k+1}) = \sum_{r+s=k} \sum_{\ell+m=n} \binom{n}{\ell} B_{\ell,r}(x_1, x_2, \dots, x_{\ell-r+1}) B_{m,s}(y_1, y_2, \dots, y_{m-s+1}). \tag{26}$$

Therefore, by virtue of the identities (26), (13), and (25) in sequence, we obtain

$$\begin{aligned}
 &B_{n,k} \left(\frac{b^2 - a^2}{2}, \frac{b^3 - a^3}{3}, \dots, \frac{b^{n-k+2} - a^{n-k+2}}{n-k+2} \right) \\
 = &\sum_{r+s=k} \sum_{\ell+m=n} \binom{n}{\ell} B_{\ell,r} \left(\frac{b^2}{2}, \frac{b^3}{3}, \dots, \frac{b^{\ell-r+2}}{\ell-r+2} \right) B_{m,s} \left(\frac{-a^2}{2}, \frac{-a^3}{3}, \dots, \frac{-a^{m-s+2}}{m-s+2} \right) \\
 = &\sum_{r+s=k} \sum_{\ell+m=n} \binom{n}{\ell} b^{\ell+r} B_{\ell,r} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{\ell-r+2} \right) (-1)^s a^{m+s} B_{m,s} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{m-s+2} \right) \\
 = &\sum_{r+s=k} \sum_{\ell+m=n} (-1)^s \binom{n}{\ell} a^{m+s} b^{\ell+r} \left[\frac{\ell!}{(\ell+r)!} \sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \\
 &\times \left[\frac{m!}{(m+s)!} \sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right] \\
 = &\frac{1}{k!} \sum_{r+s=k} \sum_{\ell+m=n} (-1)^s \binom{k}{r} \binom{n}{\ell} \frac{b^{r+\ell}}{\binom{r+\ell}{r}} \frac{a^{s+m}}{\binom{s+m}{s}} \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \\
 &\times \left[\sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right].
 \end{aligned}$$

The explicit formula (20) is thus proved. The proof of Lemma 2.1 is complete. □

Table 1: The first few values of the Bell polynomials of the second kind in (18) for $1 \leq n, k \leq 4$

$B_{n,k}$	$n = 1$	$n = 2$	$n = 3$	$n = 4$
$k = 1$	$\frac{1}{2}(b^2 - a^2)$	$\frac{1}{3}(b^3 - a^3)$	$\frac{1}{4}(b^4 - a^4)$	$\frac{1}{5}(b^5 - a^5)$
$k = 2$	0	$\frac{1}{4}(a^2 - b^2)^2$	$\frac{1}{2}(a^5 - a^3b^2 - a^2b^3 + b^5)$	$\frac{1}{6}(5a^6 - 3a^4b^2 - 4a^3b^3 - 3a^2b^4 + 5b^6)$
$k = 3$	0	0	$\frac{1}{8}(b^2 - a^2)^3$	$-\frac{1}{2}(a - b)^3(a + b)^2(a^2 + ab + b^2)$
$k = 4$	0	0	0	$\frac{1}{16}(a^2 - b^2)^4$

Remark 2.1. The first few values of the Bell polynomials of the second kind in (18) for $1 \leq n, k \leq 4$ can be computed by the explicit formula (19) and listed in Table 1.

Remark 2.2. For new results and applications about the Bell polynomials of the second kind $B_{n,k}$, please refer to the papers [6,7,18,19,25,28,36,39–42] and closely related references therein.

3 Explicit formulas for degenerate Narumi and Cauchy numbers

In this section, we state and prove an explicit formula for degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$, derive an explicit formula for degenerate Cauchy numbers $C_n(\lambda)$, and list the first seven explicit expressions of degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$ for $0 \leq n \leq 6$.

Theorem 3.1. For $n \in \mathbb{N}$, degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$ can be computed by

$$\mathcal{N}_n^{(\alpha)}(\lambda) = (n - 1)! \sum_{k=1}^n \frac{(-1)^k}{\lambda^{k-1}} \left[\sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n - 1} \right] \left[\sum_{\ell=1}^k \frac{(-1)^\ell \langle \alpha \rangle_\ell}{(k + \ell)!} \sum_{j=0}^{\ell} (-1)^j \binom{k + \ell}{\ell - j} S(k + j, j) \right]. \tag{27}$$

Proof. Let $F_{\lambda,\alpha}(t)$ denote the generating function of degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$. If applying $f(u) = \left(\frac{e^u - 1}{u}\right)^\alpha$ and $u = g(t) = \frac{(1+t)^\lambda - 1}{\lambda}$ to the Faà di Bruno formula (12), then we can write

$$\begin{aligned} \frac{d^n}{dt^n} F_{\lambda,\alpha}(t) &= \sum_{k=1}^n \frac{d^k}{du^k} \left(\frac{e^u - 1}{u}\right)^\alpha B_{n,k} \left(\frac{\lambda(1+t)^{\lambda-1}}{\lambda}, \frac{\lambda(\lambda-1)(1+t)^{\lambda-2}}{\lambda}, \right. \\ &\quad \left. \dots, \frac{\lambda(\lambda-1) \cdots [\lambda - (n-k)](1+t)^{\lambda-(n-k+1)}}{\lambda} \right). \end{aligned} \tag{28}$$

Utilizing the formula (25) and the Faà di Bruno formula (12), we arrive at

$$\begin{aligned} \lim_{u \rightarrow 0} \frac{d^k}{du^k} \left(\frac{e^u - 1}{u}\right)^\alpha &= \lim_{u \rightarrow 0} \sum_{i=1}^k \langle \alpha \rangle_i v^{\alpha-i} B_{k,i} \left(\left(\frac{e^u - 1}{u}\right)', \left(\frac{e^u - 1}{u}\right)'', \dots, \left(\frac{e^u - 1}{u}\right)^{(k-i+1)} \right) \\ &= \sum_{i=1}^k \langle \alpha \rangle_i B_{k,i} \left(\frac{1}{2}, \frac{1}{3}, \dots, \frac{1}{k-i+2} \right) \\ &= \sum_{i=1}^k \langle \alpha \rangle_i \frac{k!}{(k+i)!} \sum_{j=0}^i (-1)^{i-j} \binom{k+i}{i-j} S(k+j, j), \end{aligned} \tag{29}$$

where $v = v(u) = \frac{e^u - 1}{u} \rightarrow 1$ and

$$v^{(\ell)}(u) = \left(\frac{e^u - 1}{u}\right)^{(\ell)} = \left(\sum_{j=1}^{\infty} \frac{u^{j-1}}{j!}\right)^{(\ell)} = \left[\sum_{j=0}^{\infty} \frac{u^j}{(j+1)!}\right]^{(\ell)} \rightarrow \frac{1}{\ell+1}$$

as $u \rightarrow 0$ for $\ell \in \mathbb{N}$.

Employing (13) and (17), we acquire

$$\begin{aligned}
 & B_{n,k} \left(\frac{\lambda(1+t)^{\lambda-1}}{\lambda}, \frac{\lambda(\lambda-1)(1+t)^{\lambda-2}}{\lambda}, \dots, \frac{\lambda(\lambda-1)\cdots(\lambda-(n-k))(1+t)^{\lambda-(n-k+1)}}{\lambda} \right) \\
 &= \frac{(1+t)^{k\lambda-n}}{\lambda^k} B_{n,k}(\langle \lambda \rangle_1, \langle \lambda \rangle_2, \dots, \langle \lambda \rangle_{n-k+1}) \\
 &= \frac{(1+t)^{k\lambda-n}}{\lambda^k} (-1)^k \lambda \frac{(n-1)!}{k!} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell-1}{n-1} \\
 &\rightarrow \frac{(-1)^k (n-1)!}{\lambda^{k-1} k!} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell-1}{n-1}
 \end{aligned} \tag{30}$$

as $t \rightarrow 0$.

Taking $t \rightarrow 0$, which is equivalent to $u \rightarrow 0$, on both sides of (28) and making use of (29) and (30) give

$$\begin{aligned}
 & \lim_{t \rightarrow 0} \frac{d^n}{dt^n} F_{\lambda,\alpha}(t) \\
 &= \sum_{k=1}^n \lim_{u \rightarrow 0} \frac{d^k}{du^k} \left(\frac{e^u - 1}{u} \right)^\alpha \lim_{t \rightarrow 0} B_{n,k} \left(\frac{\lambda(1+t)^{\lambda-1}}{\lambda}, \frac{\lambda(\lambda-1)(1+t)^{\lambda-2}}{\lambda}, \dots, \frac{\lambda(\lambda-1)\cdots[\lambda-(n-k)](1+t)^{\lambda-(n-k+1)}}{\lambda} \right) \\
 &= \sum_{k=1}^n \left[\sum_{i=1}^k \langle \alpha \rangle_i \frac{k!}{(k+i)!} \sum_{j=0}^i (-1)^{i-j} \binom{k+i}{i-j} S(k+j, j) \right] \left[\frac{(-1)^k (n-1)!}{\lambda^{k-1} k!} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell-1}{n-1} \right] \\
 &= (n-1)! \sum_{k=1}^n \left[\frac{(-1)^k}{\lambda^{k-1}} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell-1}{n-1} \right] \left[\sum_{i=1}^k \frac{\langle \alpha \rangle_i}{(k+i)!} \sum_{j=0}^i (-1)^{i-j} \binom{k+i}{i-j} S(k+j, j) \right].
 \end{aligned}$$

Considering the equation (11) leads to the formula (27). The proof of Theorem 3.1 is complete. □

Corollary 3.1. For $n \in \mathbb{N}$, degenerate Cauchy numbers $C_n(\lambda)$ can be computed by

$$C_n(\lambda) = (n-1)! \sum_{k=1}^n \frac{(-1)^k}{(k+1)!} \frac{1}{\lambda^{k-1}} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell-1}{n-1}. \tag{31}$$

Proof. This follows from setting $\alpha = 1$ in the formula (27) and simplifying. □

Remark 3.1. From the explicit formula (27) in Theorem 3.1, we can obtain the first seven explicit expressions of degenerate Narumi numbers $\mathcal{N}_n^{(\alpha)}(\lambda)$ for $0 \leq n \leq 6$ as follows:

$$\begin{aligned}
 \mathcal{N}_0^{(\alpha)}(\lambda) &= 1, \quad \mathcal{N}_1^{(\alpha)}(\lambda) = \frac{\alpha}{2}, \quad \mathcal{N}_2^{(\alpha)}(\lambda) = \frac{1}{12} \alpha (3\alpha + 6\lambda - 5), \\
 \mathcal{N}_3^{(\alpha)}(\lambda) &= \frac{1}{8} \alpha [\alpha^2 + \alpha(6\lambda - 5) + 4\lambda^2 - 10\lambda + 6], \\
 \mathcal{N}_4^{(\alpha)}(\lambda) &= \frac{1}{240} \alpha [15\alpha^3 + 30\alpha^2(6\lambda - 5) + 5\alpha(84\lambda^2 - 180\lambda + 97) + 120\lambda^3 - 580\lambda^2 + 960\lambda - 502], \\
 \mathcal{N}_5^{(\alpha)}(\lambda) &= \frac{1}{96} \alpha [3\alpha^4 + 10\alpha^3(6\lambda - 5) + 5\alpha^2(60\lambda^2 - 120\lambda + 61) + 2\alpha(180\lambda^3 - 690\lambda^2 + 910\lambda - 401) \\
 &\quad + 8(6\lambda^4 - 45\lambda^3 + 140\lambda^2 - 196\lambda + 95)], \\
 \mathcal{N}_6^{(\alpha)}(\lambda) &= \frac{1}{4032} \alpha [63\alpha^5 + 315\alpha^4(6\lambda - 5) + 315\alpha^3(52\lambda^2 - 100\lambda + 49) + 7\alpha^2(6480\lambda^3 - 22320\lambda^2 + 26370\lambda \\
 &\quad - 10543) + 42\alpha(744\lambda^4 - 4320\lambda^3 + 9910\lambda^2 - 10410\lambda + 4075) \\
 &\quad + 8(252\lambda^5 - 2478\lambda^4 + 11970\lambda^3 - 31983\lambda^2 + 41328\lambda - 19087)].
 \end{aligned}$$

Remark 3.2. The explicit formula (31) in Corollary 3.1 is slightly different from the explicit formula (8).

4 Explicit formulas for degenerate Narumi polynomials and numbers

In this section, with the aid of the explicit formulas (19) and (20), we establish two explicit formulas for degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$, deduce a different formula for degenerate Narumi numbers $N_n^{(\alpha)}(\lambda)$ from the formula (27), and list the first five values of degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ for $0 \leq n \leq 4$.

Theorem 4.1. For $n \in \mathbb{N}$, degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ can be computed by

$$\begin{aligned}
 N_n^{(\alpha)}(x, \lambda) &= (n - 1)! \sum_{k=1}^n \left[\frac{(-1)^k}{\lambda^{k-1}} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n - 1} \right] \sum_{\ell=1}^k (-1)^\ell \left(1 - \frac{2x}{\alpha}\right)^{\alpha - \ell} \frac{\langle \alpha \rangle_\ell}{\ell!(k + \ell)!} \\
 &\times \left\{ \sum_{p=1}^{\ell-1} (-1)^p \binom{\ell}{p} \sum_{q=0}^{k-\ell} \binom{k + \ell}{2p + q} \left(1 - \frac{x}{\alpha}\right)^{2p+q} \left(\frac{x}{\alpha}\right)^{k+\ell-(2p+q)} \right. \\
 &\times \left[\sum_{j=0}^p (-1)^j \binom{p}{j} \sum_{m=0}^j \binom{j}{m} (p - j)^{2p+q-m} \langle 2p + q \rangle_m \right] \\
 &\times \left[\sum_{j=0}^{\ell-p} (-1)^j \binom{\ell - p}{j} \sum_{m=0}^j \binom{j}{m} (\ell - p - j)^{k+\ell-(2p+q)-m} \langle k + \ell - (2p + q) \rangle_m \right] \\
 &\left. + \left[\left(1 - \frac{x}{\alpha}\right)^{k+\ell} + (-1)^\ell \left(\frac{x}{\alpha}\right)^{k+\ell} \right] \sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell - j)^{k+\ell-m} \langle k + \ell \rangle_m \right\}
 \end{aligned} \tag{32}$$

and

$$\begin{aligned}
 N_n^{(\alpha)}(x, \lambda) &= (n - 1)! \sum_{k=1}^n \left[\frac{(-1)^k}{k!} \frac{1}{\lambda^{k-1}} \sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n - 1} \right] \\
 &\times \left\{ \sum_{q=1}^k \frac{\langle \alpha \rangle_q}{q!} \left(1 - \frac{2x}{\alpha}\right)^{\alpha - q} \sum_{r+s=q} \sum_{\ell+m=k} (-1)^s \binom{q}{r} \binom{k}{\ell} \frac{(1 - x/\alpha)^{r+\ell}}{\binom{r+\ell}{r}} \frac{(x/\alpha)^{s+m}}{\binom{s+m}{s}} \right. \\
 &\times \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell + r}{r - j} S(\ell + j, j) \right] \left[\sum_{j=0}^s (-1)^{s-j} \binom{m + s}{s - j} S(m + j, j) \right] \left. \right\}.
 \end{aligned} \tag{33}$$

Proof. Let $F_{\lambda, \alpha, x}(t)$ denote the generating function of degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ in (10). Applying $f(u) = \left(\frac{e^u - 1}{u}\right)^\alpha e^{xu}$ and $u = g(t) = \frac{(1+t)^\lambda - 1}{\lambda}$ to the Faà di Bruno formula (12) yields

$$\begin{aligned}
 \lim_{t \rightarrow 0} \frac{d^n}{dt^n} F_{\lambda, \alpha, x}(t) &= \lim_{t \rightarrow 0} \sum_{k=1}^n \frac{d^k}{du^k} \left[\left(\frac{e^u - 1}{u}\right)^\alpha e^{xu} \right] B_{n, k} \\
 &\times \left(\frac{\lambda(1+t)^{\lambda-1}}{\lambda}, \frac{\lambda(\lambda-1)(1+t)^{\lambda-2}}{\lambda}, \dots, \frac{\lambda(\lambda-1) \cdots [\lambda - (n-k)](1+t)^{\lambda-(n-k+1)}}{\lambda} \right).
 \end{aligned}$$

Since

$$\left(\frac{e^u - 1}{u}\right)^\alpha e^{xu} = \left[\frac{e^{u(1-x/\alpha)} - e^{ux/\alpha}}{u} \right]^\alpha = G_{x/\alpha, 1-x/\alpha}^\alpha(u),$$

where $G_{a,b}(u)$ is defined by (21), we obtain

$$\begin{aligned}
 & \lim_{u \rightarrow 0} \frac{d^k}{du^k} \left[\left(\frac{e^u - 1}{u} \right)^\alpha e^{xu} \right] \\
 &= \lim_{u \rightarrow 0} \frac{d^k}{du^k} G_{x/\alpha, 1-x/\alpha}^\alpha(u) \\
 &= \lim_{u \rightarrow 0} \sum_{\ell=1}^k \frac{d^\ell w^\alpha}{dw^\ell} B_{k,\ell}(G'_{x/\alpha, 1-x/\alpha}(u), G'_{x/\alpha, 1-x/\alpha}(u), \dots, G_{x/\alpha, 1-x/\alpha}^{(k-\ell+1)}(u)) \\
 &= \sum_{\ell=1}^k \langle \alpha \rangle_\ell \left(1 - \frac{2x}{\alpha} \right)^{\alpha-\ell} B_{k,\ell}(G'_{x/\alpha, 1-x/\alpha}(0), G'_{x/\alpha, 1-x/\alpha}(0), \dots, G_{x/\alpha, 1-x/\alpha}^{(k-\ell+1)}(0)) \\
 &= \sum_{\ell=1}^k \langle \alpha \rangle_\ell \left(1 - \frac{2x}{\alpha} \right)^{\alpha-\ell} B_{k,\ell} \left(\frac{(1-x/\alpha)^2 - (x/\alpha)^2}{2}, \dots, \frac{(1-x/\alpha)^{k-\ell+2} - (x/\alpha)^{k-\ell+2}}{k-\ell+2} \right),
 \end{aligned} \tag{34}$$

where

$$w = w(u) = G_{x/\alpha, 1-x/\alpha}(u) \rightarrow 1 - \frac{2x}{\alpha}, \quad u \rightarrow 0$$

and we used the formulas (22) and (23). Consequently, we acquire

$$\begin{aligned}
 \lim_{t \rightarrow 0} \frac{d^n}{dt^n} F_{\lambda, \alpha, x}(t) &= \sum_{k=1}^n \left[\sum_{\ell=1}^k \langle \alpha \rangle_\ell \left(1 - \frac{2x}{\alpha} \right)^{\alpha-\ell} B_{k,\ell} \left(\frac{(1-x/\alpha)^2 - (x/\alpha)^2}{2}, \frac{(1-x/\alpha)^2 - (x/\alpha)^3}{3}, \right. \right. \\
 &\quad \left. \left. \dots, \frac{(1-x/\alpha)^{k-\ell+2} - (x/\alpha)^{k-\ell+2}}{k-\ell+2} \right) \right] \left[\frac{(-1)^k (n-1)!}{\lambda^{k-1} k!} \sum_{\ell=1}^k (-1)^\ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n-1} \right],
 \end{aligned} \tag{35}$$

where we used the limit in (30). Further making use of the explicit formula (19) in Lemma 2.1 leads to

$$\begin{aligned}
 N_n^{(\alpha)}(x, \lambda) &= \sum_{k=1}^n \left[\frac{(-1)^k (n-1)!}{\lambda^{k-1} k!} \sum_{\ell=1}^k (-1)^\ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n-1} \right] \\
 &\quad \times \sum_{\ell=1}^k \langle \alpha \rangle_\ell \left(1 - \frac{2x}{\alpha} \right)^{\alpha-\ell} \left\{ \frac{(-1)^\ell k!}{\ell! (k+\ell)!} \sum_{p=1}^{\ell-1} (-1)^p \binom{\ell}{p} \sum_{q=0}^{k-\ell} \binom{k+\ell}{2p+q} \right. \\
 &\quad \times \left[\left(1 - \frac{x}{\alpha} \right)^{2p+q} \sum_{j=0}^p (-1)^j \binom{p}{j} \sum_{m=0}^j \binom{j}{m} (p-j)^{2p+q-m} \langle 2p+q \rangle_m \right] \\
 &\quad \times \left[\left(\frac{x}{\alpha} \right)^{k+\ell-(2p+q)} \sum_{j=0}^{\ell-p} (-1)^j \binom{\ell-p}{j} \sum_{m=0}^j \binom{j}{m} (\ell-p-j)^{k+\ell-(2p+q)-m} \langle k+\ell-(2p+q) \rangle_m \right] \\
 &\quad \left. + \frac{(1-x/\alpha)^{k+\ell} + (-1)^\ell (x/\alpha)^{k+\ell}}{\ell!} \frac{k!}{(k+\ell)!} \sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell-j)^{k+\ell-m} \langle k+\ell \rangle_m \right\},
 \end{aligned}$$

which can be simplified as (32).

Employing (20) in (35) arrives at

$$\begin{aligned}
 N_n^{(\alpha)}(x, \lambda) &= \sum_{k=1}^n \left[\frac{(-1)^k (n-1)!}{\lambda^{k-1} k!} \sum_{\ell=1}^k (-1)^\ell \binom{k}{\ell} \binom{\lambda \ell - 1}{n-1} \right] \\
 &\quad \times \left\{ \sum_{q=1}^k \langle \alpha \rangle_q \left(1 - \frac{2x}{\alpha} \right)^{\alpha-q} \frac{1}{q!} \sum_{r+s=q} \sum_{\ell+m=k} (-1)^s \binom{q}{r} \binom{k}{\ell} \frac{(1-x/\alpha)^{r+\ell} (x/\alpha)^{s+m}}{\binom{r+\ell}{r} \binom{s+m}{s}} \right. \\
 &\quad \left. \times \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \left[\sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right] \right\},
 \end{aligned}$$

which can be rearranged as (33). The proof of Theorem 4.1 is complete. □

Remark 4.1. The first five values of degenerate Narumi polynomials $N_n^{(\alpha)}(x, \lambda)$ for $0 \leq n \leq 4$ can be computed and listed as follows:

$$\begin{aligned}
 N_0^{(\alpha)}(x, \lambda) &= 1, & N_1^{(\alpha)}(x, \lambda) &= \frac{\alpha}{2} + x, & N_2^{(\alpha)}(x, \lambda) &= \frac{\alpha^2}{4} + \alpha\left(\frac{\lambda}{2} + x - \frac{5}{12}\right) + x(\lambda + x - 1), \\
 N_3^{(\alpha)}(x, \lambda) &= \frac{1}{8}\{\alpha^3 + \alpha^2(6\lambda + 6x - 5) + 2\alpha[2\lambda^2 + \lambda(12x - 5) + 6x^2 - 11x + 3] \\
 &\quad + 8x[\lambda^2 + 3\lambda(x - 1) + x^2 - 3x + 2]\}, \\
 N_4^{(\alpha)}(x, \lambda) &= \frac{\alpha^4}{16} + \frac{\alpha^3}{8}(6\lambda + 4x - 5) + \frac{\alpha^2}{48}[84\lambda^2 + 36\lambda(6x - 5) + 72x^2 - 192x + 97] \\
 &\quad + \alpha\left[\frac{\lambda^3}{2} + \lambda^2\left(7x - \frac{29}{12}\right) + \lambda\left(9x^2 - \frac{33x}{2} + 4\right) + 2x^3 - \frac{17x^2}{2} + \frac{19x}{2} - \frac{251}{120}\right] \\
 &\quad + x[\lambda^3 + \lambda^2(7x - 6) + \lambda(6x^2 - 18x + 11) + x^3 - 6x^2 + 11x - 6].
 \end{aligned}$$

Corollary 4.1. For $n \in \mathbb{N}$, degenerate Narumi number $\mathcal{N}_n^{(\alpha)}(\lambda)$ can be computed by

$$\begin{aligned}
 \mathcal{N}_n^{(\alpha)}(\lambda) &= (n - 1)! \sum_{k=1}^n \frac{(-1)^k}{\lambda^{k-1}} \left[\sum_{\ell=1}^k (-1)^\ell \ell \binom{k}{\ell} \binom{\lambda\ell - 1}{n - 1} \right] \\
 &\quad \times \left[\sum_{\ell=1}^k \frac{\langle \alpha \rangle_\ell}{\ell!(k + \ell)!} \sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell - j)^{k+\ell-m} \langle k + \ell \rangle_m \right].
 \end{aligned} \tag{36}$$

Proof. This follows from taking $x \rightarrow 0$ in (32). □

Remark 4.2. The explicit formula (27) in Theorem 3.1 is different from the explicit formula (36) in Corollary 4.1.

Remark 4.3. If taking $x \rightarrow 0$ in (33), then we deduce (27) readily.

5 Explicit formulas for Narumi polynomials and numbers

In this section, we present two explicit formulas for the Narumi polynomials $N_n^{(\alpha)}(x)$ and derive two explicit formulas for the Narumi numbers $N_n^{(\alpha)}$.

Theorem 5.1. For $n \in \mathbb{N}$, the Narumi polynomials $N_n^{(\alpha)}(x)$ have the explicit formulas

$$\begin{aligned}
 N_n^{(\alpha)}(x) &= \sum_{r=0}^n s(n, r)r! \sum_{k=1}^r \frac{(-1)^k \langle \alpha \rangle_k}{k!(r + k)!} \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} \\
 &\quad \times \left\{ \sum_{\ell=1}^{k-1} (-1)^\ell \binom{k}{\ell} \sum_{q=0}^{r-k} \binom{r+k}{2\ell+q} \left(1 - \frac{x}{\alpha}\right)^{2\ell+q} \left(\frac{x}{\alpha}\right)^{r+k-(2\ell+q)} \right. \\
 &\quad \times \left[\sum_{j=0}^{\ell} (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell - j)^{2\ell+q-m} \langle 2\ell + q \rangle_m \right] \\
 &\quad \times \left[\sum_{j=0}^{k-\ell} (-1)^j \binom{k-\ell}{j} \sum_{m=0}^j \binom{j}{m} (k - \ell - j)^{r+k-(2\ell+q)-m} \langle r + k - (2\ell + q) \rangle_m \right] \\
 &\quad \left. + \left[(-1)^k \left(1 - \frac{x}{\alpha}\right)^{r+k} + \left(\frac{x}{\alpha}\right)^{r+k} \right] \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} (k - j)^{r+k-m} \langle r + k \rangle_m \right\}
 \end{aligned} \tag{37}$$

and

$$N_n^{(\alpha)}(x) = \sum_{q=0}^n s(n, q) \sum_{k=1}^q \frac{\langle \alpha \rangle_k}{k!} \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} \left\{ \sum_{r+s=k} \sum_{\ell+m=q} (-1)^s \binom{k}{r} \binom{q}{\ell} \frac{(1-x/\alpha)^{r+\ell}}{\binom{r+\ell}{r}} \frac{(x/\alpha)^{s+m}}{\binom{s+m}{s}} \right. \\ \left. \times \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \left[\sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right] \right\}. \tag{38}$$

Proof. Taking $\ln(1+t) = u$ in (3) yields

$$\left(\frac{e^u - 1}{u}\right)^\alpha e^{xu} = \sum_{n=0}^\infty N_n^{(\alpha)}(x) \frac{(e^u - 1)^n}{n!},$$

where, by (1),

$$\sum_{n=0}^\infty N_n^{(\alpha)}(x) \frac{(e^u - 1)^n}{n!} = \sum_{n=0}^\infty N_n^{(\alpha)}(x) \sum_{i=n}^\infty S(i, n) \frac{u^i}{i!} = \sum_{i=0}^\infty \left[\sum_{n=0}^i S(i, n) N_n^{(\alpha)}(x) \right] \frac{u^i}{i!}.$$

This implies that

$$\lim_{u \rightarrow 0} \frac{d^i}{du^i} \left[\left(\frac{e^u - 1}{u}\right)^\alpha e^{xu} \right] = \sum_{n=0}^i S(i, n) N_n^{(\alpha)}(x), \quad i \geq 0.$$

Making use of the result in (34) gives

$$\sum_{n=0}^i S(i, n) N_n^{(\alpha)}(x) = \sum_{\ell=1}^i \langle \alpha \rangle_\ell \left(1 - \frac{2x}{\alpha}\right)^{\alpha-\ell} B_{i,\ell} \left(\frac{(1-x/\alpha)^2 - (x/\alpha)^2}{2}, \dots, \frac{(1-x/\alpha)^{i-\ell+2} - (x/\alpha)^{i-\ell+2}}{i-\ell+2} \right)$$

for $i \in \mathbb{N}$. In [43, p. 171, Theorem 12.1], it is stated that if b_α and a_k are a collection of constants independent of n , then

$$a_n = \sum_{\alpha=0}^n S(n, \alpha) b_\alpha \quad \text{if and only if} \quad b_n = \sum_{k=0}^n s(n, k) a_k.$$

Accordingly, we derive

$$N_i^{(\alpha)}(x) = \sum_{n=0}^i s(i, n) \sum_{k=1}^n \langle \alpha \rangle_k \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} B_{n,k} \left(\frac{(1-x/\alpha)^2 - (x/\alpha)^2}{2}, \dots, \frac{(1-x/\alpha)^{n-k+2} - (x/\alpha)^{n-k+2}}{n-k+2} \right) \\ = \sum_{n=0}^i s(i, n) \sum_{k=1}^n \langle \alpha \rangle_k \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} \left\{ \frac{(-1)^k}{k!} \frac{n!}{(n+k)!} \sum_{\ell=1}^{k-1} (-1)^\ell \binom{k}{\ell} \sum_{q=0}^{n-k} \binom{n+k}{2\ell+q} \right. \\ \times \left[\left(1 - \frac{x}{\alpha}\right)^{2\ell+q} \sum_{j=0}^\ell (-1)^j \binom{\ell}{j} \sum_{m=0}^j \binom{j}{m} (\ell-j)^{2\ell+q-m} \langle 2\ell+q \rangle_m \right] \\ \times \left[\left(\frac{x}{\alpha}\right)^{n+k-(2\ell+q)} \sum_{j=0}^{k-\ell} (-1)^j \binom{k-\ell}{j} \sum_{m=0}^j \binom{j}{m} (k-\ell-j)^{n+k-(2\ell+q)-m} \langle n+k-(2\ell+q) \rangle_m \right] \\ \left. + \frac{n!}{k!(n+k)!} \left[\left(1 - \frac{x}{\alpha}\right)^{n+k} + (-1)^k \left(\frac{x}{\alpha}\right)^{n+k} \right] \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} (k-j)^{n+k-m} \langle n+k \rangle_m \right\},$$

where we used the formula (19) in Lemma 2.1. The explicit formula (37) is thus proved.

If we use the formula (20), then

$$\begin{aligned}
 N_i^{(\alpha)}(x) &= \sum_{n=0}^i s(i, n) \sum_{k=1}^n \langle \alpha \rangle_k \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} B_{n,k} \left(\frac{(1-x/\alpha)^2 - (x/\alpha)^2}{2}, \dots, \frac{(1-x/\alpha)^{n-k+2} - (x/\alpha)^{n-k+2}}{n-k+2} \right) \\
 &= \sum_{n=0}^i s(i, n) \sum_{k=1}^n \langle \alpha \rangle_k \left(1 - \frac{2x}{\alpha}\right)^{\alpha-k} \frac{1}{k!} \sum_{r+s=k} \sum_{\ell+m=n} (-1)^s \binom{k}{r} \binom{n}{\ell} \frac{(1-x/\alpha)^{r+\ell}}{\binom{r+\ell}{r}} \frac{(x/\alpha)^{s+m}}{\binom{s+m}{s}} \\
 &\quad \times \left[\sum_{j=0}^r (-1)^{r-j} \binom{\ell+r}{r-j} S(\ell+j, j) \right] \left[\sum_{j=0}^s (-1)^{s-j} \binom{m+s}{s-j} S(m+j, j) \right],
 \end{aligned}$$

which can be rewritten as (38). The proof of Theorem 5.1 is complete. □

Corollary 5.1. For $n \in \mathbb{N}$, the Narumi numbers $N_n^{(\alpha)}$ have the explicit formulas

$$N_n^{(\alpha)} = \sum_{r=0}^n s(n, r) r! \sum_{k=1}^r \frac{\langle \alpha \rangle_k}{k!(r+k)!} \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{m=0}^j \binom{j}{m} (k-j)^{r+k-m} \langle r+k \rangle_m \tag{39}$$

and

$$N_n^{(\alpha)} = \sum_{q=0}^n s(n, q) q! \sum_{k=1}^q \frac{\langle \alpha \rangle_k}{(k+q)!} \sum_{j=0}^k (-1)^{k-j} \binom{q+k}{k-j} S(q+j, j). \tag{40}$$

Proof. These follow from taking $x \rightarrow 0$ in (37) and (38), respectively. □

Remark 5.1. When taking $\alpha = 1$ in (39) or (40), we derive the explicit formula (9) for the Cauchy numbers $C_n = N_n^{(1)}$ for $n \in \mathbb{N}$.

Remark 5.2. The first six values of the Narumi polynomials $N_n^{(\alpha)}(x)$ for $0 \leq n \leq 5$ can be computed by

$$\begin{aligned}
 N_0^{(\alpha)}(x) &= 1, \quad N_1^{(\alpha)}(x) = \frac{\alpha}{2} + x, \quad N_2^{(\alpha)}(x) = \frac{\alpha^2}{4} + \alpha \left(x - \frac{5}{12}\right) + (x-1)x, \\
 N_3^{(\alpha)}(x) &= \frac{1}{8} [\alpha^3 + \alpha^2(6x-5) + 2\alpha(6x^2-11x+3) + 8x(x^2-3x+2)], \\
 N_4^{(\alpha)}(x) &= \frac{\alpha^4}{16} + \frac{1}{8} \alpha^3(4x-5) + \alpha^2 \left(\frac{3x^2}{2} - 4x + \frac{97}{48}\right) + \alpha \left(2x^3 - \frac{17x^2}{2} + \frac{19x}{2} - \frac{251}{120}\right) + x(x^3 - 6x^2 + 11x - 6), \\
 N_5^{(\alpha)}(x) &= \frac{1}{96} [3\alpha^5 + 10\alpha^4(3x-5) + 5\alpha^3(24x^2-84x+61) + 2\alpha^2(120x^3-660x^2+1025x-401) \\
 &\quad + 4\alpha(60x^4-460x^3+1140x^2-991x+190) + 96x(x^4-10x^3+35x^2-50x+24)].
 \end{aligned}$$

The first nine values of the Narumi numbers $N_n^{(\alpha)}$ for $0 \leq n \leq 8$ are

$$\begin{aligned}
 N_0^{(\alpha)} &= 1, \quad N_1^{(\alpha)} = \frac{\alpha}{2}, \quad N_2^{(\alpha)} = \frac{1}{12} \alpha(3\alpha-5), \quad N_3^{(\alpha)} = \frac{1}{8} \alpha(\alpha^2-5\alpha+6), \\
 N_4^{(\alpha)} &= \frac{1}{240} \alpha(15\alpha^3-150\alpha^2+485\alpha-502), \\
 N_5^{(\alpha)} &= \frac{1}{96} \alpha(3\alpha^4-50\alpha^3+305\alpha^2-802\alpha+760), \\
 N_6^{(\alpha)} &= \frac{\alpha}{4032} (63\alpha^5-1575\alpha^4+15435\alpha^3-73801\alpha^2+171150\alpha-152696), \\
 N_7^{(\alpha)} &= \frac{\alpha}{1152} (9\alpha^6-315\alpha^5+4515\alpha^4-33817\alpha^3+139020\alpha^2-295748\alpha+252336), \\
 N_8^{(\alpha)} &= \frac{\alpha}{34560} (135\alpha^7-6300\alpha^6+124110\alpha^5-1334760\alpha^4+8437975\alpha^3-31231500\alpha^2+62333204\alpha-51360816).
 \end{aligned}$$

Acknowledgements: The authors thank anonymous referees for their careful corrections to, valuable comments on, and helpful suggestions to the original version of this paper.

Funding information: The work of D. Lim was partially supported by the National Research Foundation of Korea (NRF) grant funded by the Korean government (MSIT) NRF-2021R1C1C1010902.

Author contributions: All authors contributed equally to the manuscript and read and approved the final version.

Conflict of interest: The authors declare that they have no competing interests.

Data availability statement: Data sharing is not applicable to this article as no new data were created or analyzed in this study.

References

- [1] C. A. Charalambides, *Enumerative Combinatorics, CRC Press Series on Discrete Mathematics and its Applications*, Chapman & Hall/CRC, Boca Raton, FL, 2002.
- [2] L. Comtet, *Advanced Combinatorics: The Art of Finite and Infinite Expansions, Revised and Enlarged Edition*, D. Reidel Publishing Co., Dordrecht, 1974, DOI: <https://doi.org/10.1007/978-94-010-2196-8>.
- [3] F. Qi, *Explicit formulas for computing Bernoulli numbers of the second kind and Stirling numbers of the first kind*, *Filomat* **28** (2014), no. 2, 319–327, DOI: <https://doi.org/10.2298/FIL1402319Q>.
- [4] F. Qi, *Diagonal recurrence relations, inequalities, and monotonicity related to the Stirling numbers of the second kind*, *Math. Inequal. Appl.* **19** (2016), no. 1, 313–323, DOI: <https://doi.org/10.7153/mia-19-23>.
- [5] F. T. Howard, *Associated Stirling numbers*, *Fibonacci Quart.* **18** (1980), no. 4, 303–315.
- [6] F. Qi and D. Lim, *Closed formulas for special Bell polynomials by Stirling numbers and associate Stirling numbers*, *Publ. Inst. Math. (Beograd) (N.S.)* **108** (2020), no. 122, 131–136, DOI: <https://doi.org/10.2298/PIM2022131Q>.
- [7] F. Qi, P. Natalini, and P. E. Ricci, *Recurrences of Stirling and Lah numbers via second kind Bell polynomials*, *Discrete Math. Lett.* **3** (2020), 31–36.
- [8] F.-Z. Zhao, *Some properties of associated Stirling numbers*, *J. Integer Seq.* **11** (2008), no. 1, 08.1.7.
- [9] S. Roman, *The Umbral Calculus, Pure and Applied Mathematics 111*, Academic Press, Inc. (Harcourt Brace Jovanovich, Publishers), New York, 1984.
- [10] D. S. Kim, T. Kim, S.-H. Rim, and D. V. Dolgy, *Sheffer sequences of polynomials and their applications*, *Adv. Differ. Equ.* **2013** (2013), 118, DOI: <https://doi.org/10.1186/1687-1847-2013-118>.
- [11] D. S. Kim and T. Kim, *Barnes-type Narumi polynomials*, *Adv. Differ. Equ.* **2014** (2014), 182, DOI: <https://doi.org/10.1186/1687-1847-2014-182>.
- [12] F. Qi, *A new formula for the Bernoulli numbers of the second kind in terms of the Stirling numbers of the first kind*, *Publ. Inst. Math. (Beograd) (N.S.)* **100** (2016), no. 114, 243–249, DOI: <https://doi.org/10.2298/PIM150501028Q>.
- [13] F. Qi, *An integral representation, complete monotonicity, and inequalities of Cauchy numbers of the second kind*, *J. Number Theory* **144** (2014), 244–255, DOI: <https://doi.org/10.1016/j.jnt.2014.05.009>.
- [14] F. Qi, X.-T. Shi, and F.-F. Liu, *Several identities involving the falling and rising factorials and the Cauchy, Lah, and Stirling numbers*, *Acta Univ. Sapientiae Math.* **8** (2016), no. 2, 282–297, DOI: <https://doi.org/10.1515/ausm-2016-0019>.
- [15] T. Kim, D. S. Kim, and G.-W. Jang, *Differential equations associated with degenerate Cauchy numbers*, *Iran. J. Sci. Technol. Trans. Sci.* **43** (2019), no. 3, 1021–1025, DOI: <https://doi.org/10.1007/s40995-018-0531-y>.
- [16] F. Qi, A.-Q. Liu, and D. Lim, *Explicit expressions related to degenerate Cauchy numbers and their generating function*, in: J. Singh, D. Kumar, H. Dutta, D. Baleanu, and S. Purohit (eds), *Mathematical Modelling, Applied Analysis and Computation, ICMMAAC 2018, Springer Proceedings in Mathematics & Statistics, vol. 272, Chapter 2*, Springer, Singapore, 2019, pp. 41–52, DOI: https://doi.org/10.1007/978-981-13-9608-3_2.
- [17] M. C. Dağlı, *A new recursive formula arising from a determinantal expression for weighted Delannoy numbers*, *Turkish J. Math* **45** (2021), no. 1, 471–478, DOI: <https://doi.org/10.3906/mat-2009-92>.
- [18] M. C. Dağlı, *Closed formulas and determinantal expressions for higher-order Bernoulli and Euler polynomials in terms of Stirling numbers*, *Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM* **115** (2021), no. 1, 32, DOI: <https://doi.org/10.1007/s13398-020-00970-9>.
- [19] M. C. Dağlı and F. Qi, *Several closed and determinantal forms for convolved Fibonacci numbers*, *Discrete Math. Lett.* **7** (2021), 14–20, DOI: <https://doi.org/10.47443/dml.2021.0039>.

- [20] B.-N. Guo, E. Polatlı, and F. Qi, *Determinantal formulas and recurrent relations for bi-periodic Fibonacci and Lucas polynomials*, in: Springer Proceedings of the International Conference on Advances in Mathematics and Computing (ICAMC-2020) organized by Veer Surendra Sai University of Technology, Odisha, India, during 7–8 February 2020: New Trends in Applied Analysis and Computational Mathematics, Advances in Intelligent Systems and Computing, Springer Book Series, Singapore, 2021, chapter 18, DOI: https://doi.org/10.1007/978-981-16-1402-6_18.
- [21] Y. Hong, B.-N. Guo, and F. Qi, *Determinantal expressions and recursive relations for the Bessel zeta function and for a sequence originating from a series expansion of the power of modified Bessel function of the first kind*, CMES Comput. Model. Eng. Sci. (2021), in press, available online at <https://doi.org/10.32604/cmcs.2021.016431>.
- [22] C. K. Kızılateş, W.-S. Du, and F. Qi, *Several determinantal expressions of generalized Tribonacci polynomials and sequences*, Tamkang J. Math. **53** (2022), in press; available at DOI: <http://dx.doi.org/10.5556/j.tkmj.53.2022.3743>.
- [23] F. Qi, *A determinantal expression and a recursive relation of the Delannoy numbers*, Acta Univ. Sapientiae Math. **13** (2021), no. 1, in press; arXiv preprint (2020), available online at: <https://arxiv.org/abs/2003.12572>.
- [24] F. Qi, *Determinantal expressions and recursive relations of Delannoy polynomials and generalized Fibonacci polynomials*, J. Nonlinear Convex Anal. **22** (2021), no. 7, 1225–1239.
- [25] F. Qi, M. C. Dağlı, and W.-S. Du, *Determinantal forms and recursive relations of the Delannoy two-functional sequence*, Adv. Theory Nonlinear Anal. Appl. **4** (2020), no. 3, 184–193, DOI: <https://doi.org/10.31197/atnaa.772734>.
- [26] F. Qi, C. Kızılateş, and W.-S. Du, *A closed formula for the Horadam polynomials in terms of a tridiagonal determinant*, Symmetry **11** (2019), no. 6, 782, DOI: <https://doi.org/10.3390/sym11060782>.
- [27] F. Qi, O. Kouba, and I. Kaddoura, *Computation of several Hessenberg determinants*, Math. Slovaca **70** (2020), no. 6, 1521–1537, DOI: <https://doi.org/10.1515/ms-2017-0445>.
- [28] Y. Wang, M. C. Dağlı, X.-M. Liu, and F. Qi, *Explicit, determinantal, and recurrent formulas of generalized Eulerian polynomials*, Axioms **10** (2021), no. 1, 37, DOI: <https://doi.org/10.3390/axioms10010037>.
- [29] F. Qi and B.-N. Guo, *Viewing some ordinary differential equations from the angle of derivative polynomials*, Iran. J. Math. Sci. Inform. **16** (2021), no. 1, 77–95, DOI: <https://doi.org/10.29252/ijmsi.16.1.77>.
- [30] F. Qi, D.-W. Niu, and B.-N. Guo, *Some identities for a sequence of unnamed polynomials connected with the Bell polynomials*, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Math. RACSAM **113** (2019), no. 2, 557–567, DOI: <https://doi.org/10.1007/s13398-018-0494-z>.
- [31] F. Qi, *Simplifying coefficients in differential equations related to generating functions of reverse Bessel and partially degenerate Bell polynomials*, Bol. Soc. Paran. Mat. **39** (2021), no. 4, 73–82, DOI: <https://doi.org/10.5269/bspm.41758>.
- [32] F. Qi, V. Čerňanová, and Y. S. Semenov, *Some tridiagonal determinants related to central Delannoy numbers, the Chebyshev polynomials, and the Fibonacci polynomials*, Politehn. Univ. Bucharest Sci. Bull. Ser. A Appl. Math. Phys. **81** (2019), no. 1, 123–136.
- [33] F. Qi, V. Čerňanová, X.-T. Shi, and B.-N. Guo, *Some properties of central Delannoy numbers*, J. Comput. Appl. Math. **328** (2018), 101–115, DOI: <https://doi.org/10.1016/j.cam.2017.07.013>.
- [34] F. Qi and B.-N. Guo, *Explicit formulas for special values of the Bell polynomials of the second kind and for the Euler numbers and polynomials*, Mediterr. J. Math. **14** (2017), no. 3, 140, DOI: <https://doi.org/10.1007/s00009-017-0939-1>.
- [35] F. Qi and B.-N. Guo, *Several explicit and recursive formulas for generalized Motzkin numbers*, AIMS Math. **5** (2020), no. 2, 1333–1345, DOI: <https://doi.org/10.3934/math.2020091>.
- [36] F. Qi, D.-W. Niu, D. Lim, and Y.-H. Yao, *Special values of the Bell polynomials of the second kind for some sequences and functions*, J. Math. Anal. Appl. **491** (2020), no. 2, 124382, DOI: <https://doi.org/10.1016/j.jmaa.2020.124382>.
- [37] F. Qi, D.-W. Niu, D. Lim, and B.-N. Guo, *Closed formulas and identities for the Bell polynomials and falling factorials*, Contrib. Discrete Math. **15** (2020), no. 1, 163–174, DOI: <https://doi.org/10.11575/cdm.v15i1.68111>.
- [38] B.-N. Guo, D. Lim, and F. Qi, *Maclaurin series expansions for powers of inverse (hyperbolic) sine, for powers of inverse (hyperbolic) tangent, and for incomplete gamma functions, with applications to second kind Bell polynomials and generalized logsine function*, (2021), available online at <https://arxiv.org/abs/2101.10686v5>.
- [39] F. Qi and A. Wan, *A closed-form expression of a remarkable sequence of polynomials originating from a family of entire functions connecting the Bessel and Lambert functions*, São Paulo J. Math. Sci. **15** (2021), DOI: <https://doi.org/10.1007/s40863-021-00235-2>.
- [40] F. Qi, Q. Zou, and B.-N. Guo, *The inverse of a triangular matrix and several identities of the Catalan numbers*, Appl. Anal. Discrete Math. **13** (2019), no. 2, 518–541, DOI: <https://doi.org/10.2298/AADM190118018Q>.
- [41] B.-N. Guo, D. Lim, and F. Qi, *Series expansions of powers of arcsine, closed forms for special values of Bell polynomials, and series representations of generalized logsine functions*, AIMS Math. **6** (2021), no. 7, 7494–7517, DOI: <https://doi.org/10.3934/math.2021438>.
- [42] F. Qi, *An explicit formula for the Bell numbers in terms of the Lah and Stirling numbers*, Mediterr. J. Math. **13** (2016), no. 5, 2795–2800, DOI: <https://doi.org/10.1007/s00009-015-0655-7>.
- [43] J. Quaintance and H. W. Gould, *Combinatorial Identities for Stirling Numbers. The Unpublished Notes of H. W. Gould*, With a foreword by George E. Andrews, World Scientific Publishing Co. Pvt. Ltd., Singapore, 2016.